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20203 A 31 B =

FRET HEBE TR BB R R B REBEERK
dtiEE 188 175 50
EHE 23 22 2
=2FR 46 18 2
EHRE 90 71 15
MEE 39 31 7
iz 8 99 81 38
BER 93 60 11
371! 49 49 9
N 36 36 15
HER 94 89 23
BEER 46 46 18
FEE 62 62 16
RIRED 75 75 23

wE)NE 73 71 14
iR 77 74 15
EWLE 42 40 5
AINE 73 73 12
BHE 14 14 2
Y= 40 40 4
RHE 47 47 17
=R 35 34 7
R 70 69 14
BHIE 69 67 14
=EB 61 59 15
HEE 15 14 3
REBAT 16 16 4
A BRAF 34 33 3
EER 47 45 8
=ZRE 53 40 17

fFRLE 40 27 4
SHE 89 88 11
ERE 28 26 2
R L8 43 43 5
LEE 178 177 21
wog 30 29 5
R 14 14 5
FIER 10 10 4
BHEE 29 28 7
=513 16 16 4
a2 56 56 5
EEE 17 17 2
RIGE 16 14 3
EEARIE 26 21 4
AHE 20 18 !
=GR 31 29 10

BERBE 10 10 2
HEER 12 11 1

&t 2,371 2,185 479
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